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Note : First 15 minutes are allotted for the candidates to read the guestion

paper.

vii)

vili)

1X)

Instructions : |
This question paper contains seve

1)
ii)
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v)

vi)
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n questions in all.

All questions are compulsory.
It is clearly mentioned as to how many parts of a question are to be

answered.
Marks allotted to each question is mentioned against it.
Start from the first question and proceed to the last. Do not waste
your time over a question which you cannot solve.

Write the steps of the solution of all the questions clearly except

Question Number 1.
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vii) Write the solutions of lbq.qucgtinns on both sides of the answer-
book. If space for rough work is required, use the left page of the
answer-book and cross ( x ] it. Do not make any solution on ths
page. ’ _

viii) Do not erase the construction lines in the questmps relating to
construction. Do write steps of the construction in brief.

ix) In solving the questions explain your answer with the help of neat
and correct diagram where necessary. Such solutions without
diagrams will be treated as incomplete and incorrect.

1. it gug Fifsw :
TF @z § IW & fo 9R faeey fka m #, T @ dad U@ 69 8| W faeed

B T STt g o fetfi
) H@& 144 F WY UEEUST § AU POHGEUE F Ard & A7 @

v 3 i) 4

iii) 5 iv) 6. 1
q) fraa @ k2 —4=0 Wm ¥

)y 02 i)+ 4

i =2 iv) 4 1
T "R (-3, 5)® yAIdTE

i -3 i) 2

iiij) 5 \\Q&Q iv) 379 ® &g @I 1
) AABCﬂEIﬁ{A%,%ﬁ@ﬁ,ﬂc=12@ﬁﬂmBC=6ﬁﬁﬁﬂﬁzBﬁm

2 N

\ _

i) 120%9 i) 90°

iiij) 60° iv) 45°. 1
) faxd, fag o @ fagait A a1 p ¥ 3@ W HAHA HI0T H AW &

A P
60’
35
i) 30°, 45° i) 45°, 30°
i) 455 6Q° iv) 9 9§ Fls A&
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1-3

3-5

S5-7

7-9

— R O]~

9-11

) 1-3 _iy 3-5
iii) 5-7 iv) 7-9. |

1. Do all the parts :
Four alternatives of the answer of each part are given, out of which only
one is correct. Pick out the correct alternative and write it in your answer-

book :

a)

b)

d)

AA42601

The sum of exponents of prime factors in prime. factorization’ of
number 144 is

i) 3 i) 4

iii) 5 iv) 6. 1
The roots of the quadratic equation x 4= Oare

i) +0-2 i) 1

i) +2 iv) * 4. 1
Distance of the poin@?:, 5+ from y-axis is

i) -3 N i) 2

i) S NS iv)] None of these. 1

In A ABC i@l&?=6ﬁ cm, AC =12 cm and BC = 6 cm, then measure
of ZB1s

i) 120° ii) 90°
iii) 60° iv) 45°. 1
In the figure, the angle of depressions of point O from points A and P
are
A P
60"
35
O 5 0
i) 30°, 45° i) 45°, 30°
iii) 45°, 60° iv) none of these. 1
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4
) The modal class of ch distribution
Class-interval | Frequency
1-3 7
3-5 8
S5-7 2
7-9 2
9-11 1
will be )
1) 1-3 i) 3-5 l
i) 5-7 iv) 7-9.
2. Tt @ug Sife
F) k& o o & fou fr= goa wefieon 3x -
(2k-1) x+ ( k=1) y = 2k + 1 & Flg & ]
@\ ABC @1 DEF % &Y B § & SR LE = 75°, @ £C 9@
Hifea | 1
. CaslS°+cos73°
™ fag wifee - ,
sin15°+sin75°
o i 35-55 F &t faed i i 1

2. Do all the parts :
a) For which value of k the following simfiltaneous equations

3x+y=1and(2k-1) x+ ( k-1) y=2k+ 1 have no any solution. 1
b) ABC and DEF are two similar triangles. If ZA = 37° and ZE = 75°, then

find £C. Q 1
h cos15° 375"] |
t ") = 1.
© Frove Al G S sin75°
d) Find class of class 35-55. 1
3. @t @UE BT
& g TETRe.& Wl @ 272 U1 1032 H HewH GHITSGE 6 SIS 2
@) k& fFd GRS e g1 2x° - k(x -1)=0 F T & @ ? 2
M) AWK A(S,-1), B(-3,-2) T C(-1, 8), AABC & 9N &, @t 95 A Q 5
AT TfeAeRT i TS [ I | 2
H) HF T B Scos? 60° +4sec? 30° - tan® 45° + cos? 90° | ‘

3. Do allthe parts :
a) Find the highest common factor of 272 and 1032 by using Euclii

Algorithm. 3

b) For which value of k roots of the equation 2x° ~k{x-1)=0 will be

equal ? .
AA42601
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c) IfA(S,-1), B(-3,-2)and C (-1, 8 ) are vertices of

the lengt‘h of the median passing through vertex A. ABC, then find

d) Find the value of 5cos?60° + 4 sec? 30° - tan” 45° +cos® 9g» :

4. |t @vg HIC | i
%) fog #ife f& V2 & smfdy gen & 5

@ 10 ¥t o aw 6 A Few & dawlg gv difay) @8 I o & T
fog @ B 99 W uw welt @itaw ) welt &t e st A 2

m fegat A (1, 3) a9 B (-4, 6 ) F eI I W@EYE & 2 ;1 F 9@ A
st fav & ae fag @ fdeis T e 2

T oy | 3 dE= g, e e 0 R, Bt 7 @9 qwr 3.5 wHl €, & 9
' PO @ AB ¥ 1 3Rk £POQ = 30°, d BEifha WM HT &k T FACI 2

4. Do allthe parts : @
parts \Q

a) Prove that J2 i @ irrational number. 2
b) Draw concentrip circlés of radius 10 cm and radius 6 cm. From any
point on thessircumference of bigger circle, draw a tangent on smaller
circle. Me&&:re also the length of tangent. 2
Find the coordinates of a point dividing internally the line segment
joining points A('1, 3 ) and B(—4, 6 )in theratio 2 : 1. 2
d) In the figure, two concentric circles with centre O whose radii are

7 cm and 35 cm, have two arcs pQ and AB. If ZPOQ = 30°, find the

area of shaded region. 2

c)
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S. F‘ﬂmﬁl—ﬁ'ﬁq
Jﬁmmﬁwwﬁmoﬁgmaﬁ?ﬁmﬁmﬂﬁamﬁﬁﬁgl
%ﬂ'&ﬁqﬁ-]gwmwmm ﬁliGlQ
mq%aa?m 40-44 | 45-49 | 50-54 | 55-59 | 60-64 | 65-69
(fFaea 1)
Qat & dEm 4 6 6 | 20 ] 30 | 24
4
@) Frefafea tes gdeo gm #1 g F
Er__—ﬁz 8x+7y 4
> g o
T  AABC &t T ®ifew frgd BC = 6 9, AB = 3 ¥l 3L ZABC = 45° &
T TY Bye A'Be’ #) o ife faoa T s AABC ®1 e &
?mezﬁqanmﬁﬁvff@m 4
) T@ﬁrgmmaﬁﬂﬁﬁ#mmm@wmmmmﬁmg

S. Do all the parts :

4

el T AT Td DI |

In the following table, the production in quintal per hectare of

a)
100 wheat farms of illage is ‘given. Find average production in
quintal per hectare&\ &)
Production pe&cb}
hectare Q| 40-44 45-49 | 50-54 | 55-59 | 60-64 | 65-69
(in quin ;l
No. of farms 4 6 16 20 | 30 24
4
b) Solve the following linear pair of equations :
M: N M:ls 4
Xy xy
c) Construct AABC in which BC = 6 cm, AB = 3 cm and ZABC = 45°,
Construct a similar triangle A'BC’whose corresponding sides are % of
sides of AABC. Write the steps of construction in brief, 4
d) From a wooden solid cube of side 7 cm a maximum sphere is cut.
Find the volume of wooden scraps. 4
AA42601
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6. Wt @ug HiWC :

) whe 2B g e w0 WO s i

el Wi SIS T4 G H yE a g Hi 4
Q) aﬁ%ﬁrﬁwaﬂ@qméwmﬁgﬂaﬁﬁﬁﬁ-ﬁﬁ-ﬁaﬂm
gfea & & o T divt smt & fag Fife 6 9 377 &1 ST F O &
arara o fernfsa st 21 4

T U ufa® N # aRE R SRl wd W 4 Jd qwr 8 GHl g1 W
FHUeTot T 3 @ARN STl § foreeh SR &1 A9 8 ¥l &1 3@&! S9% 1

it | 4
) frfetfen arerer sex @t oty 46 & T9 T gRARAT 230 €1 f, AR £,
F OF T B :
T‘AT'T A 10-20 | 20-30 30--413 40-50 | 50-60 &0-70 Y0-80
ST 12 30 I 65 2 26 R
4
6. Do all the parts : K\QQ

a) Find a é@%fﬂtic equation by solving equation
5

DI [QI—%

+ — ., x#£3,4. Fi
-4 [x@\ 3 X ind the nature of roots and solve by

using formula. 4

b) If a line is drawn parallel to one side of a triangle to cut other two

sides at different points, then prove that it divides other two sides in
the same ratio. 4

€] A metallic sphere has internal and external diameters as 4 cm and

8 cm respectively. It is melted to give the shape of a cone with base
diameter 8 cm. Find its height. 4

d) The median of the following frequency distribution is 46 and total
frequency is 230. Find the values of fyand f,.

| Class-interval [ 1920 | 20-30 | 30-40 | 40-50 | 5060 | 60.70 | 70.80 ]
L Frequency 12 30 fl 65 f;} 26 l 18
4
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F) e RURGH ol 4x-5Y+16=0 T 2x+y=6 F AP ; &

ﬁhmgqir@raﬁﬁqTrw@aﬁﬁgaanﬂﬁéﬁﬁi?ﬁ%ﬂﬁﬁ;ﬂm 6

«ﬁﬁwﬁna%mm&%ﬁwaﬁ%%}@ﬁmml 6

@ 0 AR A S 15 e ¥ AR & 9 @ weE & gEd A I e P

o F1 IFT B 30° AULNGT F YR FT AT Hi7 45° 21 fgg FIC fH

e B FAR 5 (3+43)HKR T 6
AHAar

U&h 999 & ¥ ¥ qF W9 & TN F1 IHTT FI07 60° ¥ W & Y § @
& UIT F AT HI0T 45° ¥ AR TN R FAr 40 g & a@) fag FfU fe
Yo & FAE 20(V3 -1) Hex & 6

7. Do all the parts :

a) Solve by drawing graph of linear “simultaneous equation:
4x-35y+16=0 and 2x+y=6. Find also the coordinates of the

vertices of a triangle formed by these lines and x-axis. 6
OR
Sum of two numb@\@) s 8/and sum of their reciprocals is 8 Find the
6 15
numbers. N 6

b) The height t,@ temple.is 15 metre. From the top of temple, the angle
of eievati$$of the top of the building on the opposite. side of the road

is 30° and angle of depression of the foot of the building is 45°. Prove
that the height of the building is 5 (3+v3) metre. 6
OR

From the top of a building, the angle of elevation of the top of a tower
is 60°. From the top of the building, the angle of depression of foot of
the tower is 45°. If the height of the tower is 40 metre, then prove that
the height of the building is 20(v3 ~1) metre. 6
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